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If each person is placed directly opposite to his/her spouse, which of the following
pairs must be married ?

(a) Ruchir and Mahima (b) Rajni and Rajnikant

(c) Mahima and Vikram (d) Ruchir and Jia

Which of the following persons is definitely not seated next to a person of same sex ?
(a) Mahima (b) Sonakshi

(c¢) Rajnikant (d) Romeo

If Ruchir would have exchanged his seat with a person sitting four places to his left,
which of the following would have been true after the exchange ?
I. No person of the opposite sex was seated between two persons of same sex
Il One side of the table consisted entirely of persons of the same sex
lll- Either the host or the hostess changed their seats

(@) Only | (b) Only Ii (c) land I (d) 1land Il

~ Starting from a point M, Rohit walked 18 m towards South. He turned to his left and

walked 25 m. He then turned to his left and walked 25 m. Then he turned to his left
and walked 18 m. He again turned to his left and walked 35 m and reached a point P.
What is the direction of P in respect of M ?

(a) North (b) East

(c) West (d) South-East

Rashmi starts walking towards North. After walking 15 m she turns towards South.
After walking 20 m, she turns towards East and walks 10 m. She then turns towards
North and walks 5 m. How far is she from her original position and in which direction ?
(a) 10 m, East. (b) 10 m, West

(c) 10 m, North (d) 10 m, South

Suraj reached the coffee shop 20 minutes before 8 : 50 h, and he came 30 minutes
before Suman who reached 40 minutes late. What was the scheduled time of meeting ?

(a) 8:05h (b) 8:20h (c) 8:09 h (d) 8:10h

A bus for New Delhi leaves every two and half hour from Kashipur Bus Stand. An
announcement was made at the bus stand that the bus for New Delhi has left
40 minutes ago and the next bus will leave at 18 h. At what time the announcement
was made ?

(a) 16:10h (b) 16 15h

(c) 17:05h (d) 17:20h
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If Kriti says, “Amrita’s father Amar is the only son of my father-in-law, Arjun.” Then
how is Babita, who is the sister of Amrita, related to Arjun ?

(a) Wife (b) Niece
(c) Grand-daughter (d) Sister-in-law

Marc is Robin’s mother’s father. Marc has three brothers. One of them has a grandson
Anurag. Krish is the son of Anurag. Krish is related to Robin as

(a) Uncle (b) Nephew
(c) Brother (d) Cousin

‘A + B'means A is the father of B, ‘A — B’ means that A is the wife of B, ‘A x B’ means that
A is the brother of B and ‘A + B’ means that A is the daughter of B. If 'S+ T x U+ 2,
which of the following is true ?

(a) Sis the daughter of U
(b) Z s the aunt of S

(c) Sisthe auntof Z

(d) S and Z are cousins

Direction (Q. 130 and Q. 131) : Select the odd one out.

130.

131.

(a) ZYAB (b) TSGH (c) ONLM (d) UTFH
(@) JIHG (b) RQPO (c) WXUV (d) UTSR

Direction (Q. 132 and Q. 133) : Find out the wrong number.

132.

133.

5,7.5,11.25, 17.5, 29.75, 50, 91.25
(a) 29.75 (b) 17.5 (c) 91.25 (d) 50

10, 13, 26, 37, 51, 85, 154
(a) 154 (b) 51 (c) 26 (d) 13

Direction (Q. 134 and Q. 135) : Find out the missing number/words.

134. ST39, UV43, WX47, ?

135.

(@) YZ47 (b) YZ52
() YZ51 (d) YZ50

13 (168) 13, 14 (181) 13, 15 (?) 13

(a) 196 (b) 195 (c) 190 (d) 194
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